AW &HERR

KERBFEHERIRE
% % [E#A KLENRIS A
M # BH 2654 A 23R8 (K) AL B el 10:00
B L 15 AT =HHTRIG 303 ME
sxEtEE (M) FE &) B 1K 1l BR 1Hi 4% (F1)
19,191,600 19,191,600 i3
E 3 =1 % A Hog WM™ & %
1 [HEEHR RX2t R
2 |BX2tt FHRE #iR
3 |HREE KXt 53153
4 (BAHHRII% HAst BEEER FRE (EENDEX)
5 |BREHRE #HX=tt 313
6 (EAMRE HX=4t R

7 SRR IEEXS4

10

11

12

13

14

15

ALE1EZD=OHPIE
]




Af#HEERER
BRI BB B

# A REASHAEZEBERR(RUEY)

Bl 4 H FERK264E4 238 (K) BA#L B R 10:15

B #L 35 PR =F BTG 3032 Hm=E

RETEE (M) F R A& () =K I PR % (F1)

1,724,000 1,724,000 ="

ES & % AL # M fi= %

1 |kt BIEBLSHRFT 1,694,000 |3 #L

) fikit%*i WEEtL 22— FEAEX 1,700,000

il

3 |[BXE&Ht BRRSWIEEHRMR 1,705,000

4 NEBRRETE HAstt 1,710,000

kX&t BEMFI—RL—I3>
5 \mEmiEn 1,723,000

10

11

12

13

14

15

&




AW#HERR

KERBFHERIRE
# % ANKEREXRBRR
H 4 H Fri266F4A238 (k)  |BAFLESRE 10:30
M fl 5 AR =FHTR5 303 E=E
HEtE(M) FEMEE) BAEHI R (F)
952,200 952,200 I
¥ & % A A # M) W%
1 X2t SRRSFILEHER 852,000
9 g:_rit‘%#i EEXotr4— EmHER 840000 |
3 |t RRTY/ 895,000
4 |NERRREEERE AR 949,200
5 Xt RREH FEXE 860,000
6
7
8
9
10
11
12
13
14
15
i
=




AW#HERR

KERBFHERIRE
# % FAFF OV EAEREERHEZR
F # B F 2654 A 23R (K) 10:45
M fl 5 AR =FHTR5 303 E=E
xEtEE (M) ¥ EfHE(F) B 1K 1l BR 1Hi 4% (F1)
3,392,000 3,392,000 i
* & % A B (A i Z
1 Eiﬁ%#i BREEHEb S— LBERX 3.390,000
2 [FRER KX #iR
2 ;ﬂﬁ#iﬁ]i?:)k HEERBERENRRER 2 870,000
4 |BAE# BAREITE 52— 3,000,000
5 ﬁ;ﬁggﬁﬁﬁﬁﬂ%‘-:—#’b—bay 2,830,000 4L
6
7
8
9
10
11
12
13
14

15

]




AW#HERR

KERBFHERIRE
1 % BIBE=ZFHFELTIRATANIILRBREEBER
H 4 H F 2654 A 23R (K) 11:00
M fl 5 AR =HETRIG 3038 EE
sxEtEE () FE A& F) K HIPR{E4E (F1)
1,050,000 1,050,000 i
E 3 & % A B (M) & %
1 [t Doz 1,420,000 (4E%h
2 X 1—aL 1,050,000 |##L
3 A& ELAR BEXE 53153
4 (X2 RE BEHNA7,4X iR
s ;:é:%ﬁ*ﬁkit%#i E-CEERHSLV: _
6
7
8
9
10
11
12
13
14
15

]




